
  = 468 =  

  597  

  = 525 =  

FRONT VIEW

  666  

  1
20

5 
 

SIDE VIEW

PICTORIAL VIEW

EXPLODED PICTORIAL VIEW

1 2

3 4

REV. DESCRIPTION DATE APPROVED

REVISIONS

A INITIAL RELEASE 22/09/2020 SR

BOM TABLE
ITEM 
NO. PART # DESCRIPTION REVISION QTY.

1 BC-E-LX500-1S-W2CA-584 BEAM EXTRUSION LUXFORM 500 1 SEAT WITH 2 CAST ARMREST 584mm A 1
2 BC-EC CAST BEAM END CAP E 2
3 - 14G X 1" PAN SEC-TORX SS316 - 10
4 LC-LE-302 LEG EXTRUSION 302 A 2
5 LC-TPS LEG TOP PLATE STANDARD C 2
6 - M10 SS FLAT WASHER - 12
7 - M10 SS SPRING WASHER - 4
8 LC-LB-M10-330 LEG LONG BOLT M10 X 330 A 4
9 SH-CN-M10 CHANNEL NUT M10 B 12

10 LC-TE-500-AN TRACK EXTRUSION 500MM ANODISED B 2
11 LC-TEC TRACK END CAP A 4
12 - M8X8MM GRUB SCREW SS316 - 4
13 LC-TC-155 TRACK CAPPING EXTRUSION PROFILE A 4
14 LC-TLC TRACK LEG CLIP A 4
15 - M10 X 25 HEX HEAD SS SCREW - 8
16 SC-FCC-CC SEAT FRAME CORNER CASTING A 4
17 SC-FE-CF-500-389 SEAT CROSS FRAME EXTRUSION 500 WIDE A 1
18 SC-FE-LXS-HB-SF-L LUXFORM STATIC HIGH BACK SIDE FRAME LEFT HAND SIDE A 1
19 SC-CSH-L CAST SEAT HARNESS LEFT B 1
20 - 10G X 23mm COUNTERSUNK TORX SCREW SS304 - 6
21 SC-FE-LXS-HB-SF-R LUXFORM STATIC HIGH BACK SIDE FRAME RIGHT HAND SIDE A 1
22 SC-CSH-R CAST SEAT HARNESS RIGHT B 1
23 SC-FE-LX-BCF-500-286 LUXFORM BACKREST CROSS FRAME EXTRUSION 500 WIDE A 1
24 SC-LX-SR-500 LUXFORM STRETCH RAIL 500 WIDE B 1
25 - M5 NYLOCK NUT SS - 4
26 SC-FCC-CL SEAT FRAME CORNER LID A 4
27 - M5 X 23 COUNTERSUNK TORX SCREW SS - 4
28 SC-LXS-HB-EM-500 LUXFORM STATIC HIGH BACK ELASTOMERIC MESH 500 WIDE A 1
29 SC-LX-FO-SP-500 LUXFORM SEAT PAN FOAM 500 WIDE B 1
30 SC-LX-FO-BR-500 LUXFORM BACKREST FOAM 500 WIDE B 1
31 AC-CA CAST ARMREST A 2

BOM TABLE
ITEM 
NO. PART # DESCRIPTION REVISION QTY.

1 BA-LX500-1S-W2CA BEAM ASSEMBLY LUXFORM 500 1 SEAT WITH 2 CAST ARMREST A 1
2 LA-IN-T-AN-500 LEG ASSEMBLY INTERNAL TRACK ANODISED 500MM A 2
3 SA-LXS500-HB-WA-00 SEAT ASSEMBLY LUXFORM STATIC HIGH BACK 500 WITH HARDWARE A 1
4 AA-CA-WH CAST ARMREST WITH HARDWARE A 2

A

SR

SHEET 1 OF 1SCALE:1:20

REVISION:

DATENAME
MATERIAL:

ALL MEASUREMENTS ARE IN MM
UNLESS STATED OTHERWISE

TOLERANCES:
LINEAR (PART): ± 0.5 mm
LINEAR (ASSEMBLY): ± 1.5 mm
ANGULAR (PART): ± 0.5
ANGULAR (PART): ± 1.0

seating
A Division of UES International

© UES SEATING 2020

CHK'D

APPV'D

DRAWN

DRAWING NO:

TITLE:

WEIGHT (KG):

GA-LXS500HB-1-WA00-IN-TR-2A

GENERAL ASSEMBLY LUXFORM STATIC 500 
HIGH BACK 1 SEAT INTERNAL TRACK 
RIVETED WITH 2 ARMREST

22/09/2020

AS PER PARTS LIST

AS PER PARTS LIST

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

SHEET SIZE: A3

FINISH: COMBUSTABLE WEIGHT (KG):JD

17.07

17.07

3.322


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


